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There are 150 Multiple Choice Type
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All questions carry equal marks.
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Please attempt all questions.

Please opt for an answer which
appears most suitable.
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whitener In case of violation of this
instruction, “your result may ‘not be
processed or you may be declared
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W A9 U9 3= T4
General Knowledge and Other Skills

( Q.Nos. 1 to 50)

1. Fo Fo FRUSH ¥ FNT 16 1S, 2019 ¥ 28 f foert R % forw fed fosian

gifse fRar ‘
(4) - FAST Foiss B) HemR S
(€) I ufer D) T 9§ FE

Among the following whom did K. K. Foundation on May 16, 2019 announce the

winner of 28th Bihari Pliraskar ?

(A) Manisha Kulshreshtha (B) Léeladhar Jagudi K
%/ Keerti Parihar ﬁ/ None of them.
2 129 2019ﬁq§'ﬁwﬁﬁ54ﬁ_‘ﬁﬂqﬁammaﬁvﬁﬁwﬁﬁmw% ?
A) AT Hierde . B éqﬁqmw Y
© TR TR D)  wemR ST
S54th Jnanpith Award was giveﬁ to which English writer, in New Delhi on June
12,2019 ? ‘
(A) Sunil Shrivastava : ,‘ﬁ Amitav Ghosh
(C)  Yuvraj Bhattarai (D)  Leeladhar Jagudi
3. YN % S9N G Y g e S @ S ¥ )
(A) ST T (B) T gl
(€ gie == (D) FH &K T
Among tile following, who is the Chief Election Commissioner of India at
present 9
(A) Ashok Lawasa @"’ Sunil Arora
~ (C)  Sushil Chandra (D)  None of them

[ 906187 ] Set-A ST-28(II) : 2/ 48
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4. YRd WK 7 31 T, 2019#603&%@%%{3‘5@3‘@@%% |

% fore o % forw = i o 9 3
(A)  To 2000 ¥ TE (B) %o 3000 37 TE
(C) <o 400091’%32'3 (D) m‘ﬁﬁéqﬁ

The minimum pension provided to farmers attaining the age of 60 years to all

small and marginal farmers (SMF) by the Central Government from Méy 31,

2019is
(A) Rs. 2000 per month ﬁ/ Rs. 3000 pef month
) Rs. 4000 per month ‘ (D) none of these
5, ﬁwﬁwﬁ@%ﬁﬁﬁwﬁmgﬁmwzowwﬁﬁm%
(A) 9R4 . (B) I+
(C) UM (D) T I B T

The winner of world mixed team badminton championship Sudirman Cup 2019

is
(A) India (lg/ China
(C) Japan (D) None of these

6. fodll ¥= 1 52 ¥ W 3 W INH 45 o E e AR e W 13 9
ferefver fopar i, &t Siswer ehm
Bl 5 : ' B) 6
©F 12 D) 7
A number being divided by 52 gives remainder 45. If the number is divided by

13, the remainder will be

AP 5t /ﬁs

s e - 12 OF %

................................................................................
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Which of the following is the largest number ?
V2, ¥3 §3. 6
. 2 B 3
© ¥4 D) ¢6
ﬁﬁwaﬁwwﬁswﬁaﬁrmmwwﬁ 120 ¥ 3 GEFE =1 A
¥
/ﬁf 70 B 35
(€) 140 y | (D) 105

The ratio of two numbers is 3 : 4 and their LCM is 120. The sum of the numbers

| is
: ,6/ 70 B) 35

© - 140 - @) 105
Wﬁ@f%sc%ﬁﬁsowﬁwqﬁmsom%ﬂiﬁww% ?

A) 120 ﬁ/ 150

(C) 180 (D) 200

When 60 is subtracted from 60% of a number, the result is 60. The number is
(AY 120 ' (B) 150

(.C) 180 (D) 200

............................................................................................................
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af 15%@%@20%@%%@@%@3&&%%%
A 16 | B 20

(C) 24 (D) 25

If the cost price of 15 books is equal to the selling price of 20 books, the loss per/; .

cent is

(A) 16 (B) 20

©F - 4 O 25

2o#@7ﬁwaﬁmis%|uﬁmsmmm123’r,a}mﬁwaﬁ$r,
3raa g

(A} 16 WA 15
(&) 14 (D) 13

The average of 20 numbers is 15 and the average of first five numbers is 12. The

average of the rest is

%{ 16 B 15

€ 14 D) 13
12, A A:B=3:4,B:¢=5:73KC:D=-8-9754 Rk i
Al - 3 | 7:3
(C) '21:10 A0 10:21
IfA:B=3:4,B:C=5 7andC:D=8:9then A D is equal to
e 3% B) -F:8
(C) 21:10 (D) 10:21
[906187]set-A .............................................. s T_zs(n) ........................ o e i 5/48
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T Y ot St 37 o & S & s E

(A) 32 Hiex B) 8HRX

(C) adRX (D) 16 HieX
all ; The perimeter of a rectangle is 160 metre, and the difference of two sides is
31, 48 metre. Find the side of a square whose area is equal to the area of this-

rectangle.

,&(y 32m B) &m
(€) 4m (D) 16 m
14. TS =G 5 [5el/8921 %1 e ¥ wo 50 0 gor 15 e o UR &R el g1 g
I e (e ) g 5
D
(A) 600 B) 750
(C) 1000 ‘ (D) . 1250

A man walking at the rate of 5 km/hr crosses a bridge in 15 minutes. The
length of the bridge (in metres) i§ /f\7 ~

(A) 600 750

(C) 1600 1250

WAWW%, 3R c_ci_/_\+co%_A=3ﬁT @@WW%

A 1 ‘ﬁ/

(D)

b
wn

© ;s

(
Ut

If A is an acute_argle ar@ cot A3 cosec A = 3, then the value of sin A is
4

B i

(A) 1 (B) 5

0

(C)- \D)

W

------------------------------------------------------------------------------ \-u---(-'--u---.n---------n sess }uu.------u-uu..........--............mu...."......n-u----u--------
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16.  TIRAT 1 qRe 3 U T 3 e o IEE T R et & el g
THT, TIRAT ¥ oy Wb eifige & 9

(A) O : B) e
(C) =M= D) F= I T8

Pointing towards Garima, Rakesh said, "His father is the only son of my father."

How is Rakesh related to Garima ?

L

- (A) Brother ABy Father
(C) - Uncle (D}  None of them
17. FHR 19 W Q15 Hex ogm ) ik == =R == T 20 HieX T I9% 9%

€ [ F R gET #R 25 WX Te FEm S TR 0 IR @ @
s R AT @ W )

(A) 5T B) 10T
(C) 40 7R (D) 80 HieX

Samir went 15 m to the west from his house and then turned left and walked
20m. He then turned east and walked 25m and finally turning left covered 20m.

How far was he from his house ?

(A) 5m (B] 10m

/é'/ 40 m (D) 80 m

18. {dl Wikia®s W § 3f pEEp = 60 TIT RABIT &I 100 71 =10, &F HAIR Ft

1 ferear s 2 |
iy o /9/ 72
1 < 90 (D) 160
......................... : e I e
[ 906187 ]'Set-A ST-28(1I) 7 / 48
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If DEEP is coded in a symbolic language as 60 and RABIT as 100, then how will

HAIR be coded ?
- , : (A) o §

(C) S0

O

8+4x2-4+2=7
@A 2
i - 32

B) 72
(D) 160

B) 28
(D) 36

?%-x‘mm'-—','—l-'a’nm'x"—‘aﬂM'+'Q’a'+'mani'+'3}T,Fﬁ

' ' > P v
If'x' means'-',' + 'means'x','-'means'+'and '+ 'means'+'then () -

8+4x2-4+2=7

Ay 2

,(/)(/32

—

B) 28
(D) 36

20. FAfefed w1 & o« o5 @t Ta S

-4

A~ 343

e |

4

................................................................................

[ 906187 ] Set-A

(B) 305
(D) 729

Find the missing character in the following figure :

(B) 305
(D) 729
ms""f:ﬁg('ﬁ'i ..........................................

8/ 48


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

21. Feafeafeg mﬁaﬁﬂj@mﬁaﬁ-wfaﬂwﬁﬁm%mwm ?

JAK, KBL, LCM, MDN, ? !
(A) OEP ' ' ,g/ NEO
: (C) MEN D) PFQ
EI'. n 3
‘ Which option will take place of (?) in the following letter pattern ?
JAK, KBL, LCM, MDN, ?
(A)  OEP 87 NEO
(C) MEN (D) PFQ
154 : e : .
22.  T=fefiga s ﬁwmﬁﬁ(?)ﬁwmwaﬁq-ﬁmmwﬁ ?
g >
16, 28, 31, 40, 50, 61, ?
74 : B 77
B B)
(€} 8% - (D) 81

Which number will take place of ( ?) in the following number series ?
16, 23, 31, 40, 50461.7
. (A) 7 (B) v

€ 83 (D) 81

(A) 16 (B) 18

9 D 7

[ 906187 ] Set-A ST-28(I1I) 9/ 48
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How many triangles are there in the following figure ?

/ﬁ/ 16 B) 15

~

c & o

ARG S R e ———
el ferar S & 2
(A)  HeA ' ' B) IR
©c = ' D) =N
If 'Sand’ is coded as ‘Brick’, 'Bri;:k' as 'Hous?', 'Hogse' as 'Temple’, ’Tcmple’ as
'Palace’, then where do you worship ? e
r_@/ Palace - (B) Temple
(C)  Brick (D)  House
25. 1ol Wihla® 9T # LIGHT 1 JGEFR frmr =1 & <t sy & SHORT &l g
- forar s 2
(A) FQMPR (B) QFMPR
(C0 FQMRP . (D) QFMRP
If LIGHT is coded in a symbolic language as JGEFR, then how will;SHORT be
coded in that language ? »
A) FOMPR ' B QFMPR
(C) FQMRP - (D) QFMRP
[906187]set-A .............................................. S T-28(II) .................................................................. 10/48
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26. fowed s o o “Tagia (PR fegie) ﬁzﬁ%ﬁﬁnﬁwwﬁmmﬁq”?

(A) Yo STERIEA Few B) Tio Hlo 3Ro EH
(€) o Fo THo I . D) <o TR A

Who said, "The Principles (Directive Principles) should be made the basis of all

the future legislation" ? :

s A £/~ Dr.B. R Ambedkar
(©) Dr.B.NRao (D) Dr. Zakir Hussain
27.  Trfefed o & Fi-w1 dRevee @ = = ¥ 2
& W | B g
C gT® D) IR

Which of the following does not belong to solar system ?

\,(A) Planets \(B) Comets
: LC) Asteroids : /g)z Nebulae
28.  FHE-IE g F o Aot Oie # P S 9 o e T R 2
@) ReRe (B) ETEZIERE
Q) EEEE (D)  EeiwRE
The plants which grow on saline soil are known as
%‘/ xerophytes (B) hydrophytes
(C)  succulents ﬂ haJophytes

e L P P wee sssresese

[ 906187 | Set-A ST-28(II) | . 11/ 48
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29.

30.

31.

ﬁmﬁ@hhwa@mfﬂwm%ﬁrﬂﬁ@ﬁm@ﬁmm
ST € 2

(a) &= ~ : B &
(C) il (D) ==

Which of the following colours of light undergoes the least deviation while

passing through a prism ?

,@/ Red B Gween

(C) Yellow (D} Blue
g m TR T EEE g )

(A)  uRa B WA
© = D) FFF T I

The world's largest Telescope is in which country 2
(A) India : (B) Japan

,,(,ejp China (D)  United States of America

orva waiE feaw’ = wEE Y

A 51 B) 5
(CF S v (D) 5 ==
The 'World Environment Day’ is celebrated on

,«){/ 5 June B) 5July
VZ

(€©)  5May (D) 5 Mar'ch
3 &ﬂm%wmﬁnﬁmﬁﬁwﬁ@ﬁmﬂam%@ﬁmﬁ% ?
" (A) TR & FEE (B) WEeH
(C) AR WEas (D) YT
f'éa's"i'é';"j"'s';;;'.x ......................... s"i;:é'g('ﬁ')' .................................................................. .1...2...}..2.2.3..
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33.

34.

[ 906187 | Set-A ST-28(1) | - 13 / 48
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For which of the following causes, we cannot see during a fog ?

.1(—15§/ Scattering of light ‘ (B) Reflection
(C) Internal reflection | (D) Refraction
ffefaa & @ w-a1 & are (fafees) Ftaey Wit el & 2
@) ez ®) e
(€)  XEEH | D) WTETECH
Which of the followiﬁg represents a billion characters ?
(A) Kilobytes (B) Gigabytes
(ﬁ/ Terabytes _ | (D) Megabytes
Y W YR TSTEET SiE-t o 2
(A) e | (B) . == r
© e (i) (D) e
What was the early capital of Magadh ?
(A)  Vaishali (B) Champa
,{/)Cﬂ/ Rajgni.'xa (Girivraja) (D)  Pataliputra
(A) IENE (B) TIAIA
© o o e (D) ETEEH
Among the following fuels of energy, which is the most environment friendly ?
(A) Biogas (B) Ethanol
(C) CNG /j‘ﬁ/ Hydrogen:
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36.

37.

38.

Google Play

‘mmﬁﬁw’%ﬁﬁ#mm%?

A 27 ; ! B 2uE
© 2w D 2%

The 'World Wetlands Day' is celebrated on which day ?

(&) 2nd March (B) 22nd March
(C) - 2nd February A 22nd May
U Y’ T @ | G d )

(&)  der B T=

C) e D) =

"Durand Cup” is associated with which of the following games ?

(A) " Polo /jﬁ/ Football

(C) Cricket : - (D) ' Hockey
“Wmmaﬁm%,ﬁs@mm@nn"%aﬁm?

(A)  TEE O B) - W f&e
(C) SRt o (D) =7 TR o

"Swaraj is my birthright and I shall have it.” Who said ?

(A)  Mahatma Gandhij (B)  Bhagat Singh

 (C)  Jawaharlal Nehru % Bal Gangadhar Tilak

39.

........................................................................................

mﬁwﬁﬁmwaﬁquﬁzﬁw@aﬁaﬁmmmaﬁwm
AT & '

(A)  HEEIYFR (B) AT 1 Hifeis afumr

(C) T = Hifg e fagig (D)  ¥TH 9§ &IE 78

[ 906187 ] Set-A ST-28(II) 14 / 48
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In Qonstitution of India, Right to Free amd Compulsory Elementary Education is

included in the 'secFion on

(A) Huma.n Rights
% Fundamental Rights of citizens

(C)  Directive Priﬁciples of States Palicy

(D)  None of these

HFE YRR § ORGET (RIS ®1 5= 2T 8
(A) 48 ‘ S 46
€} 44 _ D) 42

- The number of chromosomes in the Buman body are

A) 48 .jﬁy 46

€ 44 | D) 42
mﬁa‘lﬂm%mﬁdﬁ?ﬂi?
(A). - TEHues

B) (Y foum |wis & = s

(C)  TiHEHl & FEET

(D)  ArhEST Td TET 6 FET

The Spcakér of Lok Sabha in India is elected by the
(A) Council of Ministers '

(B) All Speakers of State Legislative Assemblies

/tC/ Members of Lok Sabha

(D) Members of Lok Sabha and Rajya Sabha

[ 906187 | Set-A ST-28(1I) 15/ 48
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42, TFRE VAl S g Eia e A eE E 2
w I o ®
(© “IemgE ¥ Figa T o) W
Which of the following is a major source of oceanic salinity ?
(A)  Land /9/ Rivers
| (©) Ash from volcanoes : (D} Wind
43. T HE@TR Sﬁrmwaaﬁqé’rma@% ?
(A) TR : B) FIURG
25,
(© R D) T - I - R
Which strait connects Red Sea and Indian Ocean ?
(A) Malacca : (é) : B’ospérus
' g)/ Hormuz S () Bab-el-Mandeb
44, Profeian 3 & SV @ Fo T T § 2 =
(A) HelErIe . (B) AFMHzH
(©) i (D) 3 ¥ B Tl
qu’ch of the following is a Harappan.portl: ?
(A)  Mahasthangarh (B)  Nagapattanam
€y Lothal (D)  None of these 4
................ ' I

[ 906187 ] Set-A ST-28(11) 16 / 48



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

406.

47.

[ 906187 ] Set-A : ST-28(11) | _ 17 / 48

..............

GET IT ON

— Google Play

465 FTHT, 25 9T T 12 o
B 395 FTH%, 25 9N T 8 G
© 372 FTWR, 22 90 @ 12 F==
D)  TEEEE
At present the Constitution of India COmRprIScS

&7 465 Articles, 25 Parts and 12 Schedules
(B) 395 Articles, 25 Parts and 8 Schedules
(C) 372 Articles, 22 Parts and 12 Schedules

(D) none of these

SferfiEe & fgET A G el @9 A el @ wehell € 2
(A)  Taferh . _ B) wicH
©) TeaH i D) SHHEH

Which of the following is not used in making solar cells ?

(A)  Silicon 5 % Platinum -

-(C) Galium ' (D) /Germenium
uﬁuéﬁwwﬁmaﬁzmé&ﬁw%mﬁm% ?
A) DTS B) IFTRT 14
(C) TR 16 D) BT 17
Which Article of the Constitution of India is related to Right to Equality before
law ?

A
(A)  Article 15 /(B‘)%rticle 14

(©) Article 16 ~ (D) Article 17
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48. Wﬁﬂ%&saﬁqmﬁm%?

(A) To Teio Zl’o (B) ﬁo ‘ﬂo '210
© = - ~ D) = Fe (o 7o)

The brain of any computer is

(A) ALU _ /g'/ CPU

(©) Memory (D)  Control Unit (CU)
49. M 9N W S = 9w 5 1§ el sfesas et o
| (a) TR AEE . B e
} (C) SiEdeE A d (D) 3= | A9 F R

At constant temperature, the speed of sound is maximum in which of the

following gases ? :
(A)  Hydrogen B - Nitrogen
- (C) [ Oxygen s { In all these gases equal ‘
50. T ST & aER m%rwgmﬁ‘am ZE S aﬁmaﬁmm—cﬁ
T 2
(A) TR 332 B) =T 370
(C) 3FTHT 371 - aﬁﬁ'r: 395
'‘National Emergency'lgay be declared by the. Presideﬂt of India in line with
! ,(ﬁ/ Article 352 (B) Article 370
' . (C) Article 371 ; (D)  Article 395

---------------------------

18 / 48
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COMPUTER SCIENCE
( Q.Nos. 51 to 150 )

51. UNIVAC®

UNIVAC is
(A) Uni_versal Automa_tic Computer
(B) Universal Array Computer
(C) Unique Autoﬁatic Computer
,(/?( Unvalued Automatic Computes
5o & Computer §RT T T HeT Welle= z
(A) Arithmetic operation (B) Logical operation
(C) Storage and relative (D) 'Q'T-Iﬁ | H‘ﬁ
The blasic oéerations performed by 2 computer are
(A) Arithmetic operation (B) Logical operatioﬂ
(C) Storage and relative W All of these
53 Differer;ce Engine 1 TSR S5 & 2
Who is the inventor of "Differenceﬂ Engine" ?

()  AllenTuring (8) Charles Babbage

(C)  Simur Cray % Augusta Adaming

54. Switching 3qEUT % ®9 § Microprocessor fg diet % Computer Ffemwe ?

Microprocessors as switching devices are for which generation computers

(A) First Generation (B) Second Generation

(C) ~ Third Generation ,Lﬁ)/ Fourth Generation

e e

—
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55. DOS I [ AH &

DOS stands far

,& Disk Operating System (B) Disk Operating Session
(C)  Digital Operating System (D}  Digital Open System
56.  ASCII 3iR EBCDIC @I®B™ Character Coding System & | EBCDIC &1 [ Bl %

ASCIlI and EBCDIC are the popular character coding systems What does
EBCDIC stand for ?

: V@/ Extended Binary Coded Decimal Interchange Code
(B) Extended Bit Code Decimal Interchange Code
(C) Extended Bit Case Decimal Interchange Code
(D)  Extended Binary Case Decimal Interchange Code

57. Computer ¥ fm (=) BF § ?

Who is the father of Computer ?

(A) Allen Turing (B) Simur Cray
(C)  Augusta Adaming ﬂ/ Charles Babbage
58. YHEEIE 55 31 SERVT &uaT R el &
(A) tracks per inch of surface (B) bits pervi'nch of tracks
(C)  disk pack in disk surface O FTHH T«

Storage capacity of magnetic disk depends on
| (A) tracks per inch of surface % bits per inch of tracks
(C)  disk pack in disk surface (D) all of these
59. & YR % Main memory g i

(A) - Primary and Secondary (B) Random and Sequential

/g}/ ROM and RAM - (D) sﬂﬁ@wﬁ

..................
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The two kinds of main memory are

(A) Primary and Secondary = Random and Sequential
(C) ROMand RAM ) Al of these ,

60. O Storage area M 32T 1 3 7= F W # W ¥R ¥ e T R
W%ﬁuwﬁhﬁmﬁ@awmwﬁ%% ‘

A storage area used to store data o “ampensate for the difference in speed at
which the different units can handle =2 is

(A)  Memory gf Buffer
(C) © Accumulator ‘D)  Address

61.  HHAK YHH AR favear @ 4w o £, =2 oy 7 ¥
(A) Accﬁracy- v B) Reliability
© | Diligenece D)  Versatility
Compgter is free from tiresome and Boredom. We call it
(A) Accuracyxr . ,9// Reliability
(C) Dﬂigenéce {D) Versatilii&
62. Integrated Circuits (ICs) 9 9e = Computer ¥ Gafdd & ?
Integrated Circuits» (ICs) are related to which geng:raﬁon of computers ?
(A) First generation B) Second generation

W Third generation (D)  Fourth generation
63. CD-ROM & T& |

(A) Semiconductor memory (B) Memory register
(C) Magnetic memory (D) 3-‘!’3 q ﬁé Bl
CD-ROM is a |
1 (A) Semiconductor memory (B) Memory register
: /ﬁ/ Magnetic memory : D]  None of these
4 [906187 ] Set-A ST-28(M) L aupes
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U% hybrid computer
(a) Tl Fgex Star &

(B) TN FFEX S ¥

(© I fefeet ar T wage 3= 2
(D) T #ﬁé T

A hybrid computer

(A)  Resembles digital computer

(B) Resembles analogue computer

/ﬁ/}/ Resembles both as digital and analogue computer

(D)  None of these :

TR % wme § 8 9z ®le F1 3= == =771 £, Y EBCDIC FeT ST
g2 |

Which type of computer uses the 8-bit code calied EBCDIC ?

{A) Minicomputers B} Mscrocomputers
,% Mainframé computers (DY Sapercomputer
Computer T ALU .........._. ¥ IH O I_m e SEE e

The ALU of a computer responds to the M coming from

(A} Primary memory - .4& Controt section

(C) External memory : (D) Cache memory

Yo UIgl & FH w1 9T 52w 9@ |

(A)  Transistors . (B) Vacuum Tubes T4l Valves :
(C) Integrated Circuits (D) T T T

Chief component of first generation computer was

(A)  Transistors : % Vacuum Tubes and Valves
L % (©) Integrated Circuits ' (D) None of these
[ 906187 ] Set-A ST-28(II) 22 / 48
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- . 5T 3R AW H UE 5= £ = g feandl & §9 e %

information between computing devices.

(A) Network ' ' ’ Pgripheral
(C) Expansion board D M
69 1 Byte = »
,%/ 8 bits _ : = 4bits
©) 4 bits : | @} 9 bits
70. ﬁﬂﬁﬁ%ﬁicwmﬂﬁﬁ‘ﬂﬂ%%@(ﬁﬁmwm ?

(A)  SSI - B8 MSI

0. Lel A D (A) 9= (B) A

Which of the following IC was 'used in thard geheration of computers ?

(@A) ssI | = MsI |

© LSt ' £ Both () and (B)

(A) organization of data » ) progr;mming standard
(C) coding | D)  program design |
Term, Data Struc‘ture refers to ....cieees and interrelationship ’between them.

% organization of data | (B) programming standard,.
(C)  coding ' = (D) program design

72. 22 WEATH, S oveves YR o & A 2
In data structure, data may of ......... types
@ 1 B 2
3 o e
(906187 | Set-A ST-28()  23/48
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(A) numeric variable {LB)// string variable .
(C) logical function (D) array
75.  Hyperlinks, ¥ Worg document 3k .. % 99 g7 o Gehell

(A) E?Tworddocumcm

(B) www W TS webpage
€ = =53 Internet X o5 webpage

% a webpage on the www
C): = webpage on a company Internet
(D) all of these =

76. ¥ clip art, Insert SR
(A} Insert choose Pictures T Clip Art &

(B) Choose Clip Art icon, ¥ Drawing toolbar

(€) T & gt

.......................................

[ 906187 | set-a ST-28(1)
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You can insert“glg_c_li'p;ar“__tfmn

(a) Insert choose Pictures then Cip At
% Choose Clip Art icon ijom Dramamg toolbar

(C) All of these

1 : (D) None of these

77.  Frfaiad § @ $F 91 q6es G = = == = = 5= 2

(A)  HE@HIOT W IRGH 3 F=ow e
(C)  TEHIUT T Gor D) FTEIFETE
Which of the following cannot be deme with document version ?

/(W Modifying a version - (B) Deleting a version
(C) Opening a version {D) None of these

78. 9 Y 9IHd U &I @iud g, 9 &= =7 854 8

When you drag selected text, you can

(A) Delete text : B) Link text

(CT - Cop¥ text = ,@/ - Move text
79. AV Ush word document o @ X ¥94 %
(A) Formatting & fore (B) Special characters & fou
(C) Phrases & fol@ D) T IR
You can search in a word document for ' |
(A)  Formatting | ' ,(ﬂ/ Special characters
(@) Phrases %/ All of these

80. Y Trdl gEmEs ¥ i Sig 9od &
(A) T e feHiw A e W
(B) T G & At T I A =2 AISE Bl &
() T =i FY | 2RI W
D) FTHE &

|
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You can add ‘a date to a document by

(A Inserting a text date

(B) Inserting a date ﬁeld that will update autnmanm]ly
{C) T vpmg the datc manually
25~ All of these

81. EndKey ‘
{A) Cursor ¥ line & F5 7% 9T &
fB) Cursor ¥ document 3 3id O% ol &

0  Cursor ¥ paragraph 5 39 % 96701 &

(D} Cursor ¥ scréen T 37 % FoIdl €

End Key | |

(A)  Mowes the cursor to the end of the line
% Moves the cursor to the end of the document
@’ Moves the cursor t9 the end of the paragraph
(D) Mowes the curser to the end of the screen

82. "Ctrl + Page Dows" &1 SUaRI 1541 Sl &

(A) /Curser =l &= pamgxaﬂ)ﬁ 'ﬂ?ﬂlﬁ % g
(B) Cursor T page =% JoiH & fol0

(C) Cursorﬂ@hneqﬁaﬁﬁa‘?m

(D) - Cior 106 scesel T & 1o

"Ctrl + Page Down" is used to

(A) move the cursor one paragraph down

ﬁ/ move the cursor one page down

©) move the cursor one line down
(D)  move the cursor one screen down
[ 906187 ] Set-A ST-28(II) 26 / 48
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“Ctrl + Down Arrow" Sl SUdM =
{A)  Cursor &l Teh paragraph 4 == = U
(B) Cursor.EF\T U line 9 ao= = =
(C)  Cursor &l T&H page A9 IF= = =
(D) Cursor I Teh screen A 9o = =
“Ctrl + Down Arrow" is used to
(A) move the cﬁrsor ‘one paragrapi down
A% move the cursor one line dowm
(®)] move thé cursor one page dows
(D) move the cursor one screenci—
84. ﬁ';f # ¥ ®9 non-linear 21 TWEaE ?
Which one is a non-linear data stn-:-e ?
(A) = Stack “AB) Queue
(C)  Linked list % Thee
85.  "Ctrl + Left Arrow" key I S5aM S €
(&)  Cursor & line & Y& 2 & == 70
(B) Cursor ! Th word TR o = = o
ey Cursor &l TH paragraph 391 =54 % o
(D) Cursor I TH parégraph da® == & o
"Ctrl + Left Arrow" is used to | |
(A) © move the cursor at the beginning of the line
,W move the cursor one word left
= (G move the cursor one paragraph up
(D) move the cursor one paragraps down
[ 906187 ] Set-A S 27 | 48
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86. Abstraction I HCH g
Abstraction means
,fg'/ Summarization : (B]  Elimination
[C) Hiding (D) Casting
87. “Ctrl + Page Up" key 31 5aRT 2iel &
(A) Cursor I TS page W o 91 & ¢

(8) Cursor &l U= paragraph W & 99 & &0

i cmﬂwmwﬁmﬁasfm

(D} Cursor® tﬁ lne 3 W Fnﬁ & fom
"Ctrl + Page Up"isused to /
& move the cursor one page up |
(B) move the cursor one paragraph up
(C) move the cursor one screen up
(D) / move the cursor one line up :
88.  Polymorphism e........ I TF (ORI &
Polymorphism is feature of
(A) Procedural programming (B) SQL
(C) Non-procedural programming ﬁ'/ Object Oriented Programming
89. "Ctrl + Home" key &1 39GRT Bl §
(A) Cursor % document & & 4o 5 % fom
(B) Cursoreﬁlmeﬁ?ﬁﬁﬁmﬁ%m
{CF - Cursor Eal paragraph = RILS) =i \_rﬂef & fFTQ’
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90.

91

92.

"Ctrl + Home" is used to
W move the cursor to the beginmame af Document
(B) move the cursor to the beginmumg of Line
(C) move the cursor to the beginmamg af Paragraph
(D) all of these
-Ctrl + End" key ST SUAIT 811 €
(A) Cursor ! line & d q e == =7
% Cursor @1 document & Fa EEE== fag
Cursor Ea paragraph & Fa === 3? ﬁ"\'q
D) T IS
"Ctrl + End" is used to
(A)  move the cursor to the end of Eme=
(B) move the cursor to the end of @scament
(C)  move the cursor to the end of paragraph

(D) none of these

aﬁwmmmmmtimwﬁa%@ﬁﬁmﬁ
Tl & 2 ‘

How can you update the values of §or—=t= cells if Auto Calculate mode of Excel

is disabled ?

() F8 - F9
-

[y D) Fil

s Ve A RS ¥ o 9 e TR W #iv feet Szt ®1 @ A
T B WS, 3N aﬁwwmaﬁmwmmwwww
SCute '

You want to set such that when you type Baishakh and drag the fill handle,
Excel should produce Jaistha, Aashadh and so on. What will you set to effect

that ?
/(g/ Custom List =) Auto Fill Options
(C) Fill Across Worksheet D) Fill Series

[ 906187 ] Set-A sT-28(0) : 29 / 48
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93. «“anmﬁamnﬁmwmﬂﬁ?mm%9

A Double CAL indicator on status bar

button
| ~ = = 4
i\ iIC A) 79 (B) I
} - =t = g
} D Yol o TS e

‘, ’ AT et cam you d:ange “automatic or manual calculation mode in Exce] ?
1§ \\_—_,\N
i
f

e Doubie CAL mdx:ator on status bar

{B) Go to Toals >> Options >> Calculation and mark the corresponding radio

button

,éf Both of (A) and (B)
(D} Nonc of these

| 94, ww*@ﬁfﬂ;ﬂi?@ﬁ@ﬂthﬂﬁ%’

How cam you show or hide the grid lines in Excel Worksheet ?

(A) Go to Teols >> Options >> View tab and mark or remove the check box
named Gridline s -

(B) Cliclk Gnidline tool on Forms toolbar

46 Both (a) & (B

(D) None of these

95, _ﬁmﬁf@aﬁéﬁqmmﬁﬁqaﬂaﬂmwiﬁmmm%?

Which of the following Excel Screen components cannot be turned on or off ?

_ (A) Formula Bar tB) Status Bar
% Tool Bar (D) None of these
[ 906187 ] Set-A ST-28(II) 30/ 48
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= Wmmﬁwﬁﬁmmamw$aﬁcm+xm%ﬁﬂm

e 7

(A) Selected cells % cell content, o= = FH B clipboardﬁ stored & SIS

v

g radio .

(B) CRIEG ceﬂsmé%ﬁmmi
wﬁﬁcells%%zﬁmzwawmwﬁﬂﬁaﬁ%
aﬂﬁ{acens%ﬁ?ﬁﬁwmﬂmwzﬁﬁ%

Ctrd = X aifeer selecting some cells in Excel ?

€
(D)

What happens when you press

(A) The cell content of selected o=ills disappear from cell and stored in

clipboard

g radio )%/ The cells selected are marked forostting

(C) - The selected cells are deleted amé the cells are shifted left

A

(D) The selected cells are deleted amd cells are shifted up

97. ﬁmﬁﬁ@'ﬁﬁ‘éﬁqm%ﬁmwwogmxﬁwwﬁ% 2
Which of the following options s not ammiable in Paste Special dialog box ?
B Subtract

o). SOQRT

@/ Divide g
k box = m@ﬁ@ﬁﬂﬁﬁiﬂ#*hﬁ?ﬁmﬁ?

() Add

(A) Cut and Paste

(B)  Edit >> Paste Specia{l >> Transpose
© (&) (B

D) TH I wE T

you choose to conwert a column of data into row ?

Which command will

. (A) Cut and Paste
' : (B) Edit >> Paste Special >> Transpose

/ Both (A) and (B)

None of these

/ 48 [ 906187 | Set-A ST-280) |
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99. &4 [HE worksheet T THITH cells § &a 2 = T A EEE w7
(A) Data Fi yfafte FHT cells A B’Fﬁ
(B) ﬁéda@ﬁﬂfﬁ&mcensﬁ:ﬁﬁgﬁ
iC) text & o ?ﬂé of 349G abbreviation’g.T &
(D) text ST format A &l %’ﬁ HE gIF = 7
Itis écceptable to let long te);t flow into adjacent cells on a workshéet whén
(A)  data will be entefed in the adjacent cells
,% no data will be entered in the adjacent cells
{C) there is no suitable abbreviation for the text
(D)  there is no time to format the text
100, A Ui § W B ST 30 ST & 9 95 H A § 2

(A) Doctor's symbol (Big Plus)

e W ——

(B) Small thin plus‘icon
(C) Mouse Pointer with anchor at the tip

(D)  TH F FE R

Which of the cell pointers indicates you that you can make selection ?

e —

(A) Doctor’'s symbol (Big Plus)
I 7 (B} Small thin plus icon
| ,gvr Mouse Pointer with anchor at the tip
(D) None of these
101, UeT UREeX 8 | FH 39 w41 £ T 29 @A W FHA © ?
(A) Doctor's symbol (Big Plus) s
(B) Small thin plus icon
(@) Mouse Pointer with anchor at the tip

(D) Nonc of these
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Which of the cell pointers indicates S ws can fill series ?
’%'/ Doctor's symbol (Big Plus)
(B) Small thin plus icon

(C) Mouse Pointer with anchor 2 S &p

(D)  None of these

102. USHAT ¥t W Qihg Io1 e o = 0
(A) U ST W ERT = T <% a1EE S AW
(C) Ueh fosiferT STEX gRT D RSt IR g/

On an Excel sheet the active cell is smiisated by

(A) a dotted border a dark wide border

‘ Gl a blinking border ) by italic text

103. U 9 ¥ AT U Se pmm e sty 2
What term describes explanaﬁ.y*med to a cell ?
(A)  Context - B Callout
/ﬁ’ Comment D) Dialog
104, f7= ﬁaﬁﬁmﬁaiﬂoaiﬂqqﬁm ?
(A)  Using the Edit- Select All -.ﬂwmﬂn =
(B) @iEIE W Ctrl + A ST
‘7%/ Yz ¥ AT mouse button 7= =1 fFeish X
(D) FHE HE W

- Which of the following will not select all the cells in a document ?

(A) Using the Edit - Select All menu
(B) Pressing Ctﬂ + A on the keyboard |
j;%/ Clicking three times with the mght mouse button in the spreadsheet

g/ None of these

i s acenianen e s e i e BES
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105. UF 7% workbook ¥ 7 321 % fofu fewiee v &

o

The default style for new data keyed in a new workbook is ?

(A Comma : ﬁ/ Normal

; (C Currency (D) Per cent _ : :
f 106. 3Iig 39 .......... T E A cell HTH TR 1 fawEaE $ €9 § @R a3
E dyoupress .., the cell accepts your typing as its contents.
(A} Tab (B) Ctrl+Enter
/_ﬁ Enter (D)  Alt+Enter
s e S g S 3 3 3
107. FHiioiiga 45 € -9 W*Wﬂa E’G{'Tg ?

! Which among the following is associated with Excel ?

f (A)  Graphic program (B)  Word Processor
(C) Presentation ’ #ﬁ( Spreadsheet
108 7 % ¥ 5= Function 3 %% SR & 6 TH T ¥ JeTET TF RO F
; €9 H T (True) T 707 (False) R@m@T £ 2
.f A (A)/ " NOT b (B) OR
f C) IF (D) AND

Except which of the following functiEms, a_formula with a logical function shows
the words "TRUE" or "FALSE" as a result ?

(A) NOT (B) OR
_9/ IF (D) AND
109. T #, ffafad 3 § =7 o 3y 97 e 78t § 2
Which of the fouowing is not a valid zoom percentage in Excel ?

(A) 10 (B) 100
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110 Conditional Formatting ] TGRS % faems fufq = 9= &
= 8
WS a8 ¥ , 3
© (a7 @) I o> FHAEE R |
You can check the ;:ondiﬁons agaamst —........ when applying conditional t
_formétting. - _ - . l
W Cell Value &  Formula
(C) Both (A) and (B) I  None of these

. : i
1. fe A R R o A O T € 2 |

(A) UID &A1 [ -} Admission e
(C)  Account st &8  PAN
Which of the following is a primary key = & student table ?
- (A) UID number y * Admission number
(C) Account number » Dy - PAN
1o, Frefefad & @ SH-9T 05 99 SQL Commeand € ?
Which of the following is a valid SQL command
' (A) cin ‘ , (B cout
W tuple | (D) select
113. WWW?%:?%-@WW (View) TIE 3T HH AT & 2

Which PowerPoint view works best for adding slide transition ?

(A) Animations (B) Chart Wizard
% Transition Wizard : (D} Auto Content Wizard
[ 906187 ] Set-A ST-28(H) : 35/ 48
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114. Objects &

Objects are
(A) Design of function (B] Creator of data
)%é Instances of classes (D} Program block

115. 39 U% Embedded 184 chart object ¥ T72= 57 559 ¢

(A) Double clicking the orgarﬁzation chart object

(B) Clicking edit object

(C) Right clicking the chart object, then clicking edit MS-Organization Chart
object '

(D)  (A) T (C) I

You can edit an embedded organization chart object by

| (A) Double clicking the organization chart object
(B) Clicking edit object

/9/ Right clicking the chart object, then clicking edit. MS-Organization Chart

? object

. (D) Both (A) and (C)
116. Boolean SISFIVIG & A.A ST & =

In Boolean algebra A A is equal to

A A B 2a
(C) = A? . ,@/1.

117. WSS €Y I {8 menu & G T ST @1 & 2

Slide sorter can be accessed from which menu ?

%/ . View (B) Edit

(&) File (D) Insert

L A .
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118. Boolean ISPV | AND operator = =7

In Boolean algebra the function of AND operator is

ﬂ + : : B = : 2 ' ¥

< / : : o -

119. T% T9 formatted el M & fou F= = = = g s wwar & 2 |

What would you choose to create a pre-farmatted style ?
(A) Format ‘g’/ Slide ]aybut :
(@] Slide sorter view Dy None of these
120. FrfefiEd logical FT T § Fi T Boslean SSTOE § + Wi gRT ST T 2
(A} = OR : |8 NOT
(C) NOR D)  AND

Which of the following logical operations is represented by the + sign in Boolean

algebra ?
(A) OR B NOT

_(€) NOR ' ,9/ AND

121. Custom Animation task pane %1 3927 =i gU Ush 71 49 YHIT & Yaigeih d
1 &EAT =fen

(A)  double click the motion path [B) click the show effect button

(@) click the play button D) . 9 9 BT el

To preview a motion path effect using the custom animation task pane, we

should
(A) double click the motion path ,% click the show effect button

(&) click the play button ; (D) None of these

...............................................................................
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122. H=H Tf—z}'ﬂ SQOL ¥ DEYL. Command @ 7
Which one is a DCL command in SQL ?

A UPDATE - (B) SELECT

1

(C] DELETE - ; (D) GRANT _
123. =& HY 9K W39 4 =8 aﬁtmmm$wmwﬁ%a‘rww
Lok 3 3
= -

What s the term used when you press and hold the left mouse key and move

the mouse around the slide ?

| (A) Moving & Dragging

(C) Mcn;m'ing (D) Highlighting
124. el dd s @ SQL command @W%WW&&W% ?

Which of the following SQL commands is used to view data ?

(A) CREATE (B) INSERT
AV~ SELECT (D) UPDATE
&

125, fFieied = # 57 @1 9 B vty A oo ot 3 Re g v 3 o
I 3 =3 e 3 e gy ¢ 2
Which of the following views iS the best view to use when setting transition
cffects for all slides in a presentation ?
(A)  Slide (B)  Notes page view
ASF  Outline view (D) Slide sorter view
126. Math.h & T

Math.h is a
(A) Dcrived data type 7 (B) Function
ﬁ)/ Header file (D) Built-in data type
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ove

ion

127. mﬁﬁ%&@?éﬁﬁzmmwm%

(A) %had current slide * %"‘Q

/) @ el el

(C) wﬂ:{ém@ﬁﬁﬁmﬁwaﬁ%i’m
o) T ot

The selected design template can be appibed

(A) {o current slide only

B toall the slides

(@) to all the new presentation yo= create

(D) all of these

128. Wﬁaﬁmmmﬁﬁtiﬁﬂw%

A AT

GET IT ON
Google Play

207

(B) Auto Content Wizard 1s just the wazard version of Slide Design

(C) + Slide Design does not provfic sample content but Auto Content Wizard

provides sample content 00

(D) Shde Design asks your choice msteps but

let you make choices

The difference between Slide Design and Auto Content Wizard is

(A) Both are same

() Slide Design does not provide sample co

provides sample content 100

Auto Content Wizard does not

(B) Auto Content Wizard is just the wizard'yersion of Slide Design

ntent but Auto Content Wizard

W Slide Design asks your choice in steps but Auto Content Wizard does not

let you make choices

[9051 87]SetA ................................... — |
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7 GET IT ON
EH 4 Google Play

:ﬁ

207

129. To¥ o A Ut s feome, wime wiansz = S gt e gt § 2
In which menu can you find features like Slide Design, Slide Layout etc. ?
(A) Insert Menu /(49’/ Format Menu

(C)  Tools Menu "W Slide Show Menu

130. M W HY TR TR A, FEH THE7H, T3S transition SR R T2
WATE 2 |

Which menu provides you the options like Animation Scheme, Custom

Animation, Slide Transition ?

(A) Insert Menu (B) Format Menu
,%/ Tools Menu (D) Slide Show Menu
131. 9 fahgs m?ﬂ ' m#mé?fﬁqw single coherent &3 &1 & at
When collection of various computers seems a single coherent system to its
client, then it is called
/),(A// computer network (B)  distributed system
(C) both (A) ax_ld (B) (D) none of the mentioned

132. T feams® Fea% 4 &, 3R

(A) UE WA H UF fTaRg vegeEs o 99 §
B I RERE I E IR HA T E
(€) faivw fearsar & = archt uhkars & pPDTH & & -
(D) 39 9 Hi 7@
Two devices are in network, if

" (A) a process in one device is able to exchange

{@‘f a »pro‘ces‘s is running on both devices

(C) _ PIDs of the processes running on different devices 'are same

(D) none of these
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GET IT ON
Google Play

207 [2
133. Tyt § § B9 W $@R Ads fhdl 9 F2Ew $ 9N W SR e 2

Which one of the following computer networks is built on the top of another

network ?
(A) Prior network (B) Chief network

, / 1
(C) Prime network 191/ Overlay network

134, IZ7 525 = nodes €
(A the computer that originates the data

B the computer that routes the data

{C the computer that terminates the data
D) FTEITH

In computer network nodes are

(A) the computer that .originates the data
W the computer that routes the data

(C) the computer that terminates the data

(D) - all of these
135, WOR e Heaw W wE HEE] g W R S ¢

(A) broadcast network H (B) unicast network "
(C)  multicast network o (D) EGLf ks Ebﬁ'é' Bl
Communication channel is shared by all the machines on the network in
| ,g/ broadcast network - {B) unicast network
| (®)] multicast network (D)  none of the these.
136, . v Teh JUhi{Ul g S packets " routing SR processing Fh TH F
Ell packets I forward el €| :
! (A)  Bridge (B) Firewall
(C)_ Router : (D) 37‘1'& q gt

---------------------------------------------------------------------------------------------------------------------------------------------------------------
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fom

ts

207

137

138.

139.

140.

141.

GET IT ON
- Google Play
.......... is a device that forwa_rds packets between networks by processing the
routing information included in the packet.
(A) Bridge (B) Firewall
,tC"-" Router : (D)  all of these
2eT A T R e S '

The structure or format of data is called

: Syntax {B) Semantics
&
(C)- Struct (D) None of these
YR FX FEE & A GAR ... ZE=eE ° e &

Communication between a computer and a keyboard involves

transmission.
: (A) Automatic % Half-duplex
(C) Full-duplex : (D) Simplex

5 EF= 0 g O feaRg 98 £
Which of the follwing is not a network edge device ?

(a) PC {B]  Smartphones

, Servers (D) Switch
e

=3 Transmiission Jied] & Ush HAedh A Wad AMF transmission speed T ?

Which fransmission media has the highest transmission speed in a network ?

(A) Coaxial cable (B) Twisted pair cable
45’9// Optical fibre (D) Electrical cable

(A) A single network
(B) A vast collection of different networks

(C) Interconnection of local area networks

(D) T 9 $IE Tl

...........................................................................................................................................................................................
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GET IT ON
Google Play

207

20°
What is internet ?
(A) - A single network :

% A vast collection of different networks
(C) Interconnection of local area networks

(D) none of these

142. TR A G S O FGX A TE v F T2 HCT B
To join the internet, the computer has to be connected to a
(A internet architecture board (B) internet -society
/ﬁ/ internet service provider (D) none of these

e e ——

p

143, U& =HEE ZEwH ook ¥ ARl W fefem 321 SURA S $eTe H ST FR

Internet access by transmitting digital data over the wires of a local telephone
network is provided by
(A) leased line W digital subscriber line
_ (C) digital signal line none of the mentioned
144. ISP U F2a® & ST 32T it me%
(A) internet exchange point {B) subscriber end point
(C) isp end po-int . (D) 371"?( q ‘—?'ﬁé :EQT
ISP exchanges internet traffic between their networks by
(A) internet exchange point (B) subscriber end point
isp end point (D) none of these
a5, Frefefign ¥ B @ SO 0 § SuE T R S E 2
(A} HiITP ' J(B) DHCP
(©) ~ DNS | D) T @ HIE I

.........................................................................................................................................................
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Adda247 | _

Which one of the following protocols is not used in internet ?
_Af  HTTP , B) - pHcP

. () D_NS D) “ None of these

146. IPv6 address &l 3R T
@A) 329k B 649€
©) 128%k D) 2659
IPv6 address has a size of

‘A)  32bits B 64 bits

13
/%/ 128 bits D)} 265 bits ‘

147. Internet SH &HAl g
(A) packet switching T
(B) circuit switching W
(C) packet switching 74T circuit switching 34 T
D) THEI=E T
Internet works on i
W packet switching
(B) circuit switching|
#7, both packet switching and circuit switching

(D) none of these

148. ﬁﬂ%"\@ﬁﬁ@mﬁmﬁmﬁﬁﬁaﬁAppucaﬁonhyerm:Tﬁ
€ ?

(A) remote procedure call (B) internet relay chat

[C) resource reservation protocol ﬁ/ = q HI T

--------
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Adda247 |

149.

150.

Google Play

Which one of the following is not an application layer protocol used in internet ?

(A) Remote procedure call (B) Internet relay chat -
(C) Resource reservation protocol (D)  None of these

S W W, T A 5§ Client F1 1P Address ¥&H HIATE ?
(A) DHCP B IP

(C) RPC D) FTH Y HE T

Which protocol assigns IP address to the client connected in the internet ?

(A) DHCP &f/ IP

(C) RPC (D)  None of these
MediaAm@nmlﬁﬁﬂmﬁﬁ@mmqﬁmm% ?
(A) ethernet

(B) digital subscriber line -

(C) fiber distributed data interface

D) T | 3% T

Wimich one of the following is not used in media access control ?

(A) Etherngt

(B) Digital subscriber line

% Fiber distributed data interface

(D)  None of these
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